



# Article Analysis on the Subdivision of Skilled Mowing Movements on Slopes<sup>†</sup>

Bo Wu<sup>1,\*</sup>, Yuan Wu<sup>2,\*</sup>, Shoji Nishimura<sup>2,3</sup> and Qun Jin<sup>2,3</sup>

- School of Computer Science, Tokyo University of Technology, 1404-1 Katakuramachi, Hachioji 192-0982, Japan
   Advanced Research Contex for Human Sciences, Weseda University, 2, 579, 15 Milajima
- <sup>2</sup> Advanced Research Center for Human Sciences, Waseda University, 2-579-15 Mikajima,
- Tokorozawa 359-1192, Japan; kickaha@waseda.jp (S.N.); jin@waseda.jp (Q.J.)
- <sup>3</sup> Faculty of Human Sciences, Waseda University, 2-579-15 Mikajima, Tokorozawa 359-1192, Japan
- \* Correspondence: wubo@stf.teu.ac.jp (B.W.); goen\_y.wu@aoni.waseda.jp (Y.W.)
- + This paper is an extension version of the conference paper: Wu, B.; Wu, Y.; Nishimura, S.; Jin, Q. Analysis on Falling Risk of Elderly Workers when Mowing on a Slope. In Proceedings of the 6th IEEE Cyber Science and Technology Congress (CyberSciTech 2021), Workshop of the 2nd IEEE International Workshop on the Impact of Internet of Things on Daily Life (IoT Life), Canada, 25–28 October 2021.

Abstract: Owing to the aging of the rural population in the hilly and mountainous areas of Japan, mowing on narrow ridges and steep slopes is done manually by the elderly—individuals over 65 years of age. Studies have shown that many accidents that occurred during mowing were caused by workers' unstable posture, especially when mowing on steep surfaces where there is a high risk of falling. It is necessary to analyze the body movements of mowing workers to elucidate the elements related to the risk of falls. Therefore, in this study, based on a high-precision motion-capture device and a series of experiments with elderly, skilled mowing workers, we focused on the movements of mowing. We sought to identify effective and safe mowing patterns and the factors that lead to the risk of falls. In various mowing styles, compared to the stride (S) and downward (D) mowing patterns, the basic (B) and moving (M) patterns were the most efficient; however, the risk of falls was also the highest among these patterns. While mowing, workers need to pay more attention to their arm strength and take appropriate measures to reduce the risk of falls according to their age and physique. The results can be used as data for the development of fall-detection systems and offer useful insights for the training of new mowing workers.

Keywords: motion analysis; human factors; human information processing; human centric computing

# 1. Introduction

In the hilly and mountainous areas of Japan, mowing is done using manually operated machines because of the steep gradients of many terraced rice fields [1]. For example, manually driven U-handle-type mowers are the common mowing device used in many slope areas. However, according to a study on agricultural safety [2], mowing is one of the most accident-prone agricultural tasks in Japan. With the aging of the rural population, such mowing works are usually performed by the elderly [3]; hence, it is necessary to consider the safety of elderly workers when mowing on slopes.

According to related surveys [4], approximately 30% of agricultural work accidents were caused by the unstable posture of the worker. Incorrect postures put a heavy burden on a worker's back, shoulders, and hips, which increases the risk of falls and slips [5]. Studies have shown that falls are associated with reduced postural stability and delayed motor response, especially in the elderly [6]. Therefore, it is important and necessary to analyze their body movements during mowing in detail to determine the characteristics of their movements and fall-prone postures.

With the continuous development of sensors and Internet of Things (IoT) technologies, most human activities, including body movements [7], eye movements [8], and even



Citation: Wu, B.; Wu, Y.; Nishimura, S.; Jin, Q. Analysis on the Subdivision of Skilled Mowing Movements on Slopes. *Sensors* **2022**, *22*, 1372. https://doi.org/10.3390/s22041372

Academic Editor: Gregorij Kurillo

Received: 28 December 2021 Accepted: 8 February 2022 Published: 10 February 2022

**Publisher's Note:** MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



**Copyright:** © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). activities on the Internet [9], can be dynamically acquired and analyzed. Among them, motion-capture devices, which can save a series of human movements as analyzable data through sensors, have been widely used in a variety of studies. Unlike camera-based motion-capture devices [10], wearable motion-capture technology can overcome site constraints and capture the movement of objects in open space in a more detailed manner. By attaching this type of motion-capture device to the elderly people mowing on the slopes, their detailed body-movement data (e.g., angle of joints etc.) can be recorded efficiently for further analysis.

According to relevant studies [11] and related interviews with mowers in our previous works [7,12], personal factors such as age and physique may affect the stability of mowing behaviors, especially for physically demanding tasks like mowing on slopes. To ensure the safety of older workers, it is also necessary to study the effects of personal factors on older workers' body movements while mowing on slopes.

Studies show that it is very important and necessary to identify the dangerous postures and find effective and safe ways for older people to work on slope mowing. However, the research to date has mainly focused on the analysis of falls in older adults at home, and not much research has been done using motion-capture devices. Therefore, based on a series of experiments by experienced elderly mowing workers using a high-precision motioncapture device (Xsens MVN), this study focuses on the issues of mowing movements on slopes, and aims to identify effective and safe mowing patterns.

Four experienced mowing workers participated in this experiment; they were required to perform normal mowing work. All study participants provided informed consent, and the study design was approved by the ethics review board. The Xsens MVN device and 4 k cameras were used to record the entire mowing actions of the workers for analysis. We also aimed to analyze possible factors influencing the risk of falls while mowing. The results can be accumulated as data for the development of future fall-detection systems and offer useful insights for the training of new mowing workers.

This paper is an extension of the international conference paper [12] we published previously. The remainder of this paper is organized as follows. Issues regarding agricultural accidents analysis, body-movement analysis, and elderly behavior analysis will be presented as an overview of related works in Section 2. In Section 3, the methodology and variable measurements will be described. Based on this, Section 4 provides the datasets, results of related analysis, and discussion; and Section 5 gives the conclusions and future work.

## 2. Related Works

According to the Agricultural Work Safety Information Center of Japan, mowing is one of the most accident-prone agricultural activities in Japan [2]. Accident statistics from the Ministry of Agriculture, Forestry, and Fisheries of Japan indicate that 86.5% of agricultural accidents in 2018 involved workers aged over 65 years [3], and the age of workers is one of the most important factors contributing to agricultural accidents.

Falls in the elderly are associated with reduced postural stability and delayed motor response [6], which means that another important factor influencing the occurrence of accidents is the posture of workers when undertaking agricultural activities. In mowing activities, about 29.5% of accidents were caused by unstable mowing postures [4]. Improper posture places a heavy burden on the worker's back, shoulders, and hips, which increases the risk of falls and slips.

Consequently, fall prevention in elderly behavior analysis is an active field of study. The survey by Letts et al. on factors affecting the risk of falls in the elderly showed that home hazards such as falls and fires appear to be a significant risk factor in older community-dwelling adults [13].

Several articles analyzed the movements of the elderly, such as the possible relationship between their gaits and falls. For example, through a gait experiment with 597 adults aged 70 years and older, Verghese et al. examined the relationship between speed and six other gait markers and the incidence of falls [14]. To verify whether increased gait variability predicts an increased risk of falls in older adults, Hausdorff et al. measured the stride-to-stride variability of subjects through force-sensitive insoles and collected information on whether they had fallen within a year [15]. The results showed that the stride time variability could predict falls.

There are many comparative studies between older and younger adults. For instance, to examine differences in postural stability and the speed of response between young adults, older adults at low risk of falls, and older adults at high risk of falls, Tucker et al. analyzed their voluntary postural sway movements. They showed that both fall-risk groups had a slower reaction and movement time than the younger group; and that people at high risk of falls had slower reaction and movement times and increased non-target center amplitude during casual swaying [6]. Exploring the incidence of fatal workplace injuries in younger and older workers, Salminen found that younger workers have higher injury rates than older workers, but their workplace fatality rates are lower than those of older workers [16].

Many studies use sensors to collect and analyze data from the elderly. For example, Howcroft et al. developed a fall-risk prediction model for the elderly based on gait data and expected fall occurrence from wearable sensors [17]. Sun et al. assessed the current state of sensing technology in providing objective assessments of fall risk in older adults. They found that four major sensing technologies—inertial sensors, video/depth cameras, pressure sensing platforms, and laser sensing—provide accurate fall risk diagnosis for older adults [18].

Motion-capture devices are one of the important means to analyze human motion, and such devices are used in many fields, such as sports and medical fields. They have been used to analyze the movements of athletes in many studies. Noiumkar et al. studied golf swing in a game using a motion-capture device called mechanical MOCAP system [19]. Cockcroft et al. used a motion-capture device to collect the body-movement data from 10 male competition-level road cyclists for analysis [20]. Unfortunately, the motion data near the pedal and handlebar interface was unacceptable owing to magnetic interference.

Other studies have also applied motion-capture devices to the medical field. For instance, to assess hand rehabilitation, Li et al. provided a simple and intuitive optical motion-capture system, showing a clear and accurate model of hand movements [21]. To provide therapists with detailed and quantifiable data related to patient injury or disability, Kertesz et al. analyzed three-dimensional (3D) representations of patient activity through a motion-capture device, which provided a new method to manage the entire spectrum of the rehabilitation process [22].

In addition to the research that focused on the use of camera-based motion-capture devices, several studies have applied motion-capture devices to human motion analysis in open environments. For example, Burget et al. compared the similarities and differences between subjects performing hand-coordination tasks by asking healthy subjects and patients with Parkinson's disease to use an acceleration sensor-based motion-capture device [23].

Many studies have focused on the analysis of athletes' movement. For instance, by having athletes wear a Wi-Fi-based inertial sensing module on their wrist, Abdallah et al. presented a new wearable IoT device capable of monitoring athletes' movements in real-time [24]. Ivanov et al. presented a wearable electronic system that includes a micro-controller, accelerometers, microsensors, and a heart-rate module for recognizing and controlling the accuracy of athletes' movements [25].

Studies show that it is very important and necessary to identify the dangerous postures and find effective and safe ways for older people to work on slope mowing. However, the research to date has mainly focused on the analysis of falls in older adults at home, and not much research has been done using motion-capture devices. Therefore, in this study, we focus on the analysis of body movements of skilled mowing workers by motion-capture devices to confirm the safe and effective mowing postures to prevent falls.

## 3. Methodology

## 3.1. Posture Estimation via Joint Angles Calculation

Based on related works and our previous studies [7,12], to identify the elderly workers' common mowing patterns and possible dangerous postures on slopes in detail, an intuitive way is to calculate and analyze the changing of the angles of their joints while mowing.

In this study, the high-precision motion-capture device Xsens MVN [26] was used to collect the data on elderly workers' body movements. Xsens MVN is an accelerometerbased wearable motion-capture device that records the 3D coordinates of the joints of the subject every 4 milliseconds (ms). As a full-body motion-capture system, Xsens MVN enables to capture human's body motion any time and everywhere, in any situation. Xsens MVN's ultra-small trackers are designed to withstand high impacts, such as rolls and stunts.

In contrast to traditional motion-capture devices, which are based on video camera and 17-joint models, the Xsems MVN device can collect information on 23 joints including spinal segments T12, T8, L5, and L3, and toes as XML files with high precision. The details of collectible joint data are shown in Table 1.

No.	Label	Detail
1	Pelvis	Pelvis
2	L5	L5
3	L3	L3
4	T12	T12
5	Τ8	Τ8
6	Neck	Neck
7	Head	Head
8	Rshoulder	Right shoulder
9	RUArm	Right upper arm
10	Rforearm	Right forearm
11	Rhand	Right hand
12	Lshoulder	Left shoulder
13	LUArm	Left upper arm
14	Lforearm	Left forearm
15	LHand	Left hand
16	RULeg	Right upper leg
17	RLLeg	Right lower leg
18	Rfoot	Right foot
19	RToe	Right toe
20	LRLeg	Left upper leg
21	LLLeg	Left lower leg
22	Lfoot	Left foot
23	Ltoe	Left toe

 Table 1. The details of collectable joints by Xsens MVN.

All joint data collected using the motion-capture device have corresponding 3D coordinates. Based on these, many joint angles can be calculated to represent the posture of the subject. As shown in Figure 1, a total of five types and nine angles are used for analysis, including the wrists, elbows, knees, ankles, and waist.

As shown in Figure 2, taking the calculation of the bending angle of the knee as an example, the points *A*, *B*, and *C* represent the joints around the subject's knee and have coordinates such as  $A(X_a, Y_a, Z_a)$ ,  $B(X_b, Y_b, Z_b)$ , and  $C(X_c, Y_c, Z_c)$ . Therefore, from point *A*, two vectors can be calculated as Equations (1) and (2).

$$\overrightarrow{AB} = (X_b - X_a, Y_b - Y_a, Z_b - Z_a)$$
(1)

$$A\dot{C} = (X_c - X_a, Y_c - Y_a, Z_c - Z_a)$$
 (2)



Figure 1. The joints used to represent subjects' posture.



Figure 2. The vectors on ankle joints.

Then, according to these two vectors, the angle of the knee  $\theta$  can be calculated as Equation (3).

$$Angle \theta = \arccos \frac{\overrightarrow{AB} \times \overrightarrow{AC}}{\left| \overrightarrow{AB} \right| \times \left| \overrightarrow{AC} \right|}$$
(3)

As the motion-capture device Xsens MVN can provide the coordinate metadata of each joint directly, it is only necessary to use the device in actual mowing practice to obtain the required data.

## 3.2. Variables

As shown in Figure 3, we focus on the analysis of the common action "cutting" on the slope. Therefore, the target analysis range was positioned from the point when the subject lifted the lawn mower to the vertex, to the end of the mowing movement, which means the beginning of the next round of lifting the lawn mower.



Figure 3. The action of "cutting" on the slope.

Therefore, based on the collected body movements data and the mentioned joint angle calculation method, four variables were calculated for analysis, including the joint angle variation, the standard deviation of waist angle variation, and the moving distance of movement by hands.

As the movement of the user's wrists, knees, ankles, and other joints is linear in each target analysis range, we calculate the angle variation of each joint as the characteristic quantity.

Because the waist angle variation is not linear in the analysis, the standard deviation was calculated to describe the magnitude of its vibration as the characteristic quantity. The waist is close to the center of gravity of the subject while mowing; hence, the size of the vibration may predict the risk of a fall [27].

As the subjects use their hands to push the mower during the mowing process, the distance of the movement of the hands is usually proportional to the amount of effort they exert; we use the Euclidean formula to calculate the distance of the hands as the characteristic quantity. The distance of the movement of the hands is determined by calculating the coordinate distances of all adjacent frames and adding them, as shown in Equations (4) and (5).

Taking point *i* as an example, the coordinates of the hand before *i* and after *i* are assumed to be  $A(X_A, Y_A, Z_A)$  and  $B(X_B, Y_B, Z_B)$ , respectively. Therefore, the moving distance  $D_i$  between point A to B will be:

$$D_{i} = \sqrt{(X_{B} - X_{A})^{2} + (Y_{B} - Y_{A})^{2} + (Z_{B} - Z_{A})^{2}}$$
(4)

In our data, each frame has a duration of 4 ms; hence, if the target analysis range of one "cutting" action consists of n points, the moving distance of the hand will be:

$$D = \sum_{i=1}^{n-1} D_i$$
 (5)

Therefore, as shown in Table 2, a total of 11 variables as the characteristic quantities were considered in this study to model the mowing actions of the subjects on the slope.

No.	Measures	Detail
1	DRight	Moving distance of right hand
2	DLeft	Moving distance of left hand
3	VRelbow	Variation of right elbow joint angle
4	VRwrist	Variation of right wrist joint angle
5	VLelbow	Variation of left elbow joint angle
6	VLwrist	Variation of left wrist joint angle
7	VRknee	Variation of right knee joint angle
8	VRankle	Variation of right ankle joint angle
9	VLknee	Variation of left knee joint angle
10	VLankle	Variation of left ankle joint angle
11	STDwaist	Vibration of lumbar joint (standard variance of lumbar angle changing)

**Table 2.** Details of measures for analysis.

## 4. Experiment Results and Discussions

In our previous study [7], we conducted a preliminary study on mowing that analyzed the different mowing patterns, including typical mowing, top-down mowing, and bottomup mowing. We focus on the typical mowing on slopes, which has the highest risk of the three patterns. This section describes the experimental results, discusses the similarities and differences between the different patterns of typical slope mowing, and further confirms the effect of joint angles variation on the risk of falling. The statistical software IBM Statistical Package for the Social Sciences (SPSS) Statistics 25 was used for related analyses.

#### 4.1. Experiments

Based on the experiments conducted in previous studies [7,12], to obtain the most realistic data on the mowing movements of elderly people, we conducted a new round of experiments on the slope of the paddy field in Kouchi-cho, Higashi-Hiroshima City, Hiroshima Prefecture, Japan. Figure 4 shows the geography and mowing operation trajectory of the selected experimental area.



Figure 4. The geography and mowing operation trajectory of the selected experimental area.

The area has a large slope angle (slope depth is over 10 m) and the weeds grow so tall that a normal mower robot cannot operate on the area. It requires the mowing worker to make several horizontal trips back and forth to cut the grass manually.

Four experienced mowing workers participated in this experiment. Each participant was over 65 years old and had 10 or more years of slope-mowing experience. The details of the experimental subjects are shown in Table 3.

No.	Gender	Age	Experience	Arm Span
1	Male	74	Around 40 years	163
2	Male	68	Around 40 years	170
3	Male	66	Around 40 years	161
4	Male	68	Around 8 years	167

Table 3. Details of subjects in the experiment.

All subjects in the experiment used the most common type of mower shown in Figure 5, which is a gasoline-powered U-handle-type mower for a right-hander that allows the operator to turn the front section of the saw teeth using the button on the U-shaped handle of the mower.



Figure 5. The U-handle-type mower.

All subjects were right-handed and the mowers they used were specifically designed for right-handed people. Moreover, no participants had any cognitive disorder problems, and they were in good health and had normal vision.

To increase the authenticity of the collected data, the subjects were not given any special instructions during the data-collection phase; they were only required to perform the usual mowing work. With confirmation that these additional devices did not interfere with the normal activities of the subjects, all subjects in the trial were equipped with Xsens MVN motion-capture devices. Additional interviews were conducted at the end of all experiments to determine the details could not be obtained visually. In addition to the data collected through the motion-capture device, the movements of the subjects were recorded in real time by the 4k camera on the side and compared to the collected motion data later.

The experiment was completed in September 2020, and a supplementary experiment was carried out in September 2021. A total of 627 sets of mowing movements on slopes were collected for analysis. To make the 3D model more accurate, we also collected additional physical and personal data of the subjects as shown in Table 4.

No.	Туре	Data
1	Physical data	Body height Foot or shoe length Shoulder height Shoulder width Arm span Hip height Hip width
		Knee height Ankle height, etc.
2	Personal data	Gender Age Mowing experience Medical history Work evaluation, etc.

Table 4. Details of physical and personal measures for analysis.

# 4.2. Analysis for Different Patterns of Mowing on Slopes

Through experimental correlation image (especially the lower-body posture of workers) analysis and interviews with subjects, we found that the classic mowing action on slopes can be divided into four different patterns. As shown in Figure 6, we classified the movements of the subjects into the following four patterns based on their basic posture: basic, stride, moving mowing, and downward mowing actions.



**Figure 6.** Different mowing patterns of "typical mowing" on the slope. (**a**) Basic mowing. (**b**) Stride mowing. (**c**) Moving mowing. (**d**) Downward mowing.

Basic mowing action refers to the mowing action performed on the weeds in front of the subject while standing naturally with both feet. Stride mowing action refers to the mowing action where the subject takes a large stride with one foot in order to maintain stability.

Moving mowing motion refers to the mowing action when the subject moves his or her position to perform the mowing task better. Stride and moving motions are both performed while mowing weeds in front of the subject. Finally, downward mowing motion refers to the mowing motion performed to the weeds below the subject, with the subject's feet in their natural state. As per the mowing operation trajectory shown in Figure 4, the subjects did not mow the weeds above them, to avoid danger.

Through basic statistics, as shown in Table 5, we found that among all the data, various actions remained on the order of 50–100, except for the "basic mowing action" (B) action,

which was the most common. Therefore, we focus on the similarities and differences between various other patterns and the B action.

Table 5. Details of measures for analysis.

No.	Pattern	Abb.	Number
1	Basic mowing action	В	406
2	Stride mowing action	S	59
3	Downward mowing action	D	93
4	Moving mowing action	М	69

Based on the chi-square analysis of the data, we learned that target variables do not conform to the normal distribution. Therefore, to distinguish the similarities and differences between these patterns, the Kruskal–Wallis one-way ANOVA is used to analyze the difference between the characteristic quantities of these types of actions.

As shown in Table 6, the results of the Kruskal–Wallis one-way ANOVA show that significant differences are confirmed in all the measures we considered. The results prove that our classification for mowing actions is correct, and that each of the four different patterns has its own different characteristics. However, as there are four patterns involved in the analysis, we will focus on the results of the post hoc comparison.

Table 6. Results of Kruskal–Wallis one-way ANOVA.

Measures	Pattern	Ν	Mean Rank	Chi-Square	df	Sig. (2-Tailed)
	В	406	346.07			
	S	59	207.41	70.27	2	0.00
VRelbow	D	93	197.19	79.37	3	0.00
	М	69	373.90			
	В	406	314.82			
VD-contat	S	59	261.48	07 7F	2	0.00
VKWrist	D	93	387.70	27.75	3	0.00
	М	69	254.74			
	В	406	340.32			
X 7X 11	S	59	235.34		2	0.00
VLelbow	D	93	188.13	78.76	3	0.00
	М	69	396.06			
	В	406	321.46			
<b>X</b> 7 <b>T</b> • 4	S	59	243.09	0( 00	2	0.00
V Lwrist	D	93	270.86	26.80	3	0.00
	М	69	388.90			
	В	406	296.26			
VD1	S	59	248.78	01 41	2	0.00
VKknee	D	93	298.28	81.41	3	0.00
	М	69	495.36			
	В	406	300.45			
VD 11	S	59	248.32		2	0.00
VRankle	D	93	271.55	93.55	3	0.00
	М	69	507.10			
	В	406	296.16			
X 7T 1	S	59	211.41	115 40	2	0.00
VLknee	D	93	301.68	115.42	3	0.00
	М	69	523.30			
	В	406	309.91			
X77 11	S	59	222.22		2	0.00
VLankle	D	93	264.47	82.58	3	0.00
	М	69	483.30			

Measures	Pattern	Ν	Mean Rank	Chi-Square	df	Sig. (2-Tailed)
	В	406	346.11			
	S	59	210.97	<b>71</b> 07	2	0.00
SIDwaist	D	93	202.90	71.86	3	0.00
	М	69	362.88			
	В	406	357.21			
DBiaht	S	59	176.37	140.17	2	0.00
DRight	D	93	156.02	140.16	3	0.00
	М	69	390.36			
	В	406	359.74			
	S	59	203.15	101 00	2	0.00
DLeft	D	93	177.02	101.38	3	0.00
	М	69	324.25			

Table 6. Cont.

We will discuss the similarities and differences of each of the post hoc results in three parts, including the upper body, lower body, and the waist vibration and mowing distance of hands.

# 4.2.1. Post Hoc Results for Upper-Body Mowing Actions

Through post-event questionnaires and interviews, we learned that in slope mowing, the body joint movements determine how the worker exerts his or her force and technique. As the way of mowing involves lifting the mower and exerting the force diagonally downward from right to left, the movement of the worker's left and right hands and feet are different. As shown in Figure 7, in terms of the variation of joint angles, the worker's joint angles (e.g., elbow and knee) undergo a process from flexion to flatness when mowing. It can usually be assumed that the larger this amount of variation is, the more energy the worker outputs.



Figure 7. The upper-body mowing action.

Therefore, for the upper-body joints, the results of post hoc analysis show that although there is significant difference in almost all movements between the four patterns, similarity also appears in some measures.

As shown in Figure 8 and Table 7, for the angle variation of the right elbow, similarities are observed between the patterns of the B–M and S–D pairs; the same results are also observed for the angle variation of the left elbow. The results also indicate that the B–M pair has a higher level than the S-D pair in the angle variation. A possible explanation for this result is that, in contrast to the S and D patterns, which need to change the upper posture to mow, the difference between B and M lies mainly in moving or not, the workers have similar upper-body movements and can output a greater force.



**Figure 8.** Comparison of upper-body joint angle variation. (a) VRelbow. (b) VRwrist. (c) VLelbow. (d) VLwrist.

Title 1	Sample 1 –Sample 2	Test Statistic	Std. Error	Std. Test Statistic	Sig.	Adj. Sig.
	D–S	10.21	30.15	0.34	0.74	1.00 <sup>n.s.</sup>
	D–B	148.87	20.82	7.15	0.00	0.00
VD 11.	D-M	-176.71	28.78	-6.14	0.00	0.00
VKelbow	S–B	138.66	25.24	5.49	0.00	0.00
	S-M	-166.49	32.12	-5.18	0.00	0.00
	B-M	-27.83	23.59	-1.18	0.24	1.00 <sup>n.s.</sup>
	M–S	6.74	32.12	0.21	0.83	1.00 <sup>n.s.</sup>
	M–B	60.08	23.59	2.55	0.01	0.07 <sup>n.s.</sup>
VD	M-D	132.96	28.78	4.62	0.00	0.00
VKwrist	S–B	53.35	25.24	2.11	0.04	0.20 <sup>n.s.</sup>
	S–D	-126.22	30.15	-4.19	0.00	0.00
	B-D	-72.88	20.82	-3.50	0.00	0.00
	D–S	47.21	30.15	1.57	0.12	0.70 <sup>n.s.</sup>
	D–B	152.19	20.82	7.31	0.00	0.00
X7T 11.	D-M	-207.93	28.78	-7.22	0.00	0.00
v Leibow	S–B	104.98	25.24	4.16	0.00	0.00
	S-M	-160.72	32.12	-5.00	0.00	0.00
	B-M	-55.74	23.59	-2.36	0.02	0.11 <sup>n.s.</sup>
	S–D	-27.78	30.15	-0.92	0.36	1.00 <sup>n.s.</sup>
	S–B	78.37	25.24	3.11	0.00	0.01
	S-M	-145.81	32.12	-4.54	0.00	0.00
v LWr1st	D–B	50.60	20.82	2.43	0.02	0.09 <sup>n.s.</sup>
	D-M	-118.04	28.78	-4.10	0.00	0.00
	B-M	-67.44	23.59	-2.86	0.00	0.03

Table 7. Post hoc testing of upper-body joints.

n.s. Not significant.

The right and left wrists need to be discussed separately. Through our investigation, the right hand is mainly responsible for pushing the mower to move, whereas the left hand is more responsible for lifting the mower.

For the right wrist, similarities are observed between the patterns of the B–M, B–S, and S–M pairs. Pattern S has a higher level than others in the angle variation. One possible explanation is that the right hand of the worker is primarily responsible for pushing the mower during mowing, especially when mowing downward, in which it requires more force to push the mower because the workers need to change the way they hold the control lever.

For the left wrist, similarities are observed between the patterns of B–D and S–D. Pattern M has a higher level than others in the angle variation. A possible explanation is that the worker needs to exert more force on the left hand to lift the mower when moving with pattern M.

## 4.2.2. Post Hoc Results for Lower-Body Mowing Actions

As shown in Figure 9 and Table 8, the results of post hoc analysis show that similarities are also observed between lower-body actions. Unlike the upper body, the lower-body movements become more undulating due to susceptibility to topography. Outliers as an element to reflect environmental impact are not removed from the analysis in this study because they are real data.



**Figure 9.** Comparison of lower-body joint angle variation. (a) VRknee. (b) VRankle. (c) VLknee. (d) VLankle.

Title 1	Sample 1 –Sample 2	Test Statistic	Std. Error	Std. Test Statistic	Sig.	Adj. Sig.
	S–B	47.48	25.24	1.88	0.06	0.36 <sup>n.s.</sup>
	S–D	-49.50	30.15	-1.64	0.10	0.60 <sup>n.s.</sup>
VD1	S-M	-246.58	32.12	-7.68	0.00	0.00
VKknee	B-D	-2.02	20.82	-0.10	0.92	1.00 <sup>n.s.</sup>
	B-M	-199.11	23.59	-8.44	0.00	0.00
	D-M	-197.08	28.78	-6.85	0.00	0.00
	S–D	-23.23	30.15	-0.77	0.44	1.00 <sup>n.s.</sup>
	S–B	52.13	25.24	2.07	0.04	0.23 <sup>n.s.</sup>
VD av 1.1 a	S-M	-258.78	32.12	-8.06	0.00	0.00
VRankle	D–B	28.90	20.82	1.39	0.17	0.99 <sup>n.s.</sup>
	D-M	-235.55	28.78	-8.18	0.00	0.00
	B-M	-206.65	23.59	-8.76	0.00	0.00
	S–B	84.75	25.24	3.36	0.00	0.01
	S–D	-90.27	30.15	-2.99	0.00	0.02
<b>X7T 1</b>	S-M	-311.90	32.12	-9.71	0.00	0.00
V LKnee	B-D	-5.52	20.82	-0.27	0.79	1.00 <sup>n.s.</sup>
	B-M	-227.14	23.59	-9.63	0.00	0.00
	D-M	-221.63	28.78	-7.70	0.00	0.00
	S–D	-42.25	30.15	-1.40	0.16	0.97 <sup>n.s.</sup>
	S–B	87.69	25.24	3.47	0.00	0.00
VI enlite	S-M	-261.08	32.12	-8.13	0.00	0.00
v Lankle	D–B	45.44	20.82	2.18	0.03	0.18 <sup>n.s.</sup>
	D-M	-218.83	28.78	-7.60	0.00	0.00
	B-M	-173.40	23.59	-7.35	0.00	0.00

Table 8. Post hoc testing of lower-body joints.

n.s. Not significant.

It is important to note that because of the characteristics of the pattern M, which is different from the other three patterns, only the data of M (having higher values than others) are listed and not compared and discussed in this paper. The comparison results of the other three patterns are as follows.

For the right knee and ankle, similarities are observed between the patterns of the B–S, B–D, and S–D pairs. As the standard pattern for mowing on a slope is to stand firmly with

14 of 18

the right foot in front and the left foot at the back, the results mean that in all patterns, the right foot may be primarily responsible for maintaining balance and not for exerting force for mowing.

For the left knee, the similarity is observed between the pattern B–D, and for the left ankle, the similarity is observed between the patterns B–D and S–D, that each of the values of the S pattern is smaller than the others. The possible explanation is that the left foot, as the weight-bearing foot, does not change much in terms of force under pattern B and D, but in pattern S, owing to the forward shift of the center of gravity, its weight-bearing force is partially reduced.

## 4.2.3. Post Hoc Results for Waist Vibration and Mowing Distance of Hands

Lastly, for the post hoc results for waist vibration and moving distance of hands, as shown in Figure 10 and Table 9, similarity is also observed. In general, greater waist vibration represents a higher risk of falling, whereas an increase in the moving distance of hands can laterally indicate an increase in the force used.



**Figure 10.** Comparison of waist vibration and moving distance of hands. (**a**) STDwaist. (**b**) DRight. (**c**) DLeft.

Title 1	Sample 1 –Sample 2	Test Statistic	Std. Error	Std. Test Statistic	Sig.	Adj. Sig.
	D–S	8.06	30.15	0.27	0.79	1.00 <sup>n.s.</sup>
	D–B	143.21	20.82	6.88	0.00	0.00
	D-M	-159.98	28.78	-5.56	0.00	0.00
SIDwaist	S–B	135.15	25.24	5.36	0.00	0.00
	S-M	-151.92	32.12	-4.73	0.00	0.00
	B-M	-16.77	23.59	-0.71	0.48	1.00 <sup>n.s.</sup>
	D–S	20.35	30.05	0.68	0.50	1.00 <sup>n.s.</sup>
	D–B	199.86	20.77	9.62	0.00	0.00
DPight	D-M	-234.34	28.69	-8.17	0.00	0.00
DRigiti	S–B	179.50	25.17	7.13	0.00	0.00
	S-M	-213.99	32.02	-6.68	0.00	0.00
	B-M	-34.49	23.52	-1.47	0.14	0.86 <sup>n.s.</sup>
	D–S	26.13	30.05	0.87	0.39	1.00 <sup>n.s.</sup>
	D-M	-147.23	28.69	-5.13	0.00	0.00
	D–B	181.40	20.77	8.74	0.00	0.00
DLeft	S-M	-121.09	32.02	-3.78	0.00	0.00
	S–B	155.27	25.17	6.17	0.00	0.00
	M–B	34.18	23.52	1.45	0.15	0.88 <sup>n.s.</sup>

Table 9. Post hoc testing of waist vibration and moving distance of hands.

<sup>n.s.</sup> Not significant.

For waist vibration and the moving distance of right hand and left hand, the analysis results show that similarities are observed between the patterns of the B-M and S-D pairs, which are similar to the results of the upper-body elbow analysis. If the explanation regarding the elbows' angle variation (workers output more power in B and M patterns) is correct, this means that the output of greater force is subject to a greater risk of falling. The results of the moving distance by both hands corroborate this hypothesis.

Based on the analysis for different patterns of mowing on slopes, the results of the Kruskal–Wallis one-way ANOVA and related post hoc analysis show that among the four patterns, the B pattern has the highest number and, like the M pattern, allows workers to mow with maximum effort. Workers in the S and D patterns have to use slightly less force to mow to maintain balance. Therefore, if the conditions allow, the B and M patterns are recommended to use to increase efficiency when mowing on slopes. However, the results also show that when using the B and M patterns for mowing, workers need to be aware of falls, as higher efficiency means higher risk.

#### 4.3. Analysis of Falling Risk of Elderly Workers When Mowing on Slopes

From the conclusion of Section 4.1, posture is an important factor that affects the use of force during mowing. Therefore, based on pattern B with the largest amount of data, we attempted to analyze the factors affecting the safety of mowing on slopes via the method of stepwise regression. In addition to the variation of the angle of joints, individual factors of workers (e.g., age, experience, arm span etc.) were also considered as important influences.

Thus, in the stepwise regression, the STDwaist, which represents the vibration of the waist joint, was set as the dependent variable, and the other measures were set as the independent variables.

To meet the conditions of stepwise regression analysis, after correlation pretreatment, as shown in Figure 11, we determined that the dependent variable STDwaist in the analysis conforms to normal distribution.



Figure 11. Normal P-P plot of regression standardized residual for STDwaist.

As shown in Table 10, the results of the stepwise regression model show that a total of five variables (VLelbow, VRelbow, VLwrist, Arm span and Age) significantly affect the dependent variables STDwaist, with the values of R: 0.847 and R2: 0.714 (*p*-value < 0.01).

In terms of the magnitude of influence with the direction positive, the biggest two are the angle variation of the left elbow and right elbow, which mean that the force exerted while mowing is mainly by the angle variation of the joint of the worker's elbow; the greater the angle variation, the greater the power output. However, sometimes it also means a higher waist vibration, which may cause a fall while mowing on the slope. Positive effects were also observed on the left wrist that may suggest that the force of holding the mower in the left hand also affects the vibration in the waist and further affects the possibility of falling. The results are consistent with those discussed in Section 4.1.

Model <sup>Note</sup>	Unstan Coef	dardized ficients	Standardized Coefficients	t	Sig.
	В	Std. Error	Beta	-	U
(Constant)	32.79	1.69		19.4	0.00
VLelbow	0.02	0.01	0.22	3.64	0.00
ArmSpan	-0.15	0.01	-0.41	-14.01	0.00
VLwrist	0.02	0.00	0.43	7.69	0.00
Age	-0.12	0.02	-0.24	-7.19	0.00
VRelbow	0.02	0.01	0.11	3.57	0.00

Table 10. Results of stepwise regression of STDwaist.

<sup>Note</sup> R = 0.847, R2 = 0.714.

The results show that in addition to the left and right elbow and left wrist, arm span and age also play a significant role as influencing factors. The effects are bigger, but the direction of the effects is negative.

The results of arm span analysis mean that the longer a person's arm span, the less vibration their waist has while mowing. As the length of a person's arms is often proportional to his physical size, this means that a worker who is not sufficiently strong may have to exert more effort to mow the grass, and may face a higher risk of falling while mowing on a slope.

Contrary to expectations, the results on the effect of workers' age showed that elder workers had more stable waists while mowing on slopes. Because the experimental subjects had similar mowing experiences, one possible explanation is that older workers were more concerned with their body balance during work. This means that without physical limitations, workers over the age of 65 may have a safer body motion for slope mowing.

Based on the analysis of falling risk of elderly workers when mowing on slopes, the results of stepwise regression analysis are as follows. To reduce the possibility of falling while mowing, workers need to pay attention to the use of arm strength and take appropriate measures to reduce the risk of falls according to their age and physique.

## 5. Conclusions

To identify the most effective and safe mowing patterns and the possible influence factors of fall risk while mowing on slopes, in this study a series of experiments were conducted to collect data and analyze the body movements of workers during mowing.

Based on 627 sets of motion data collected from four elderly workers, the Kruskal– Wallis one-way ANOVA and the related post hoc analysis show significant differences in all the measures among the mowing patterns B, S, D, and M. At the same time, the patterns B and M have higher efficiency when mowing on slopes, but also carry a higher risk of falling.

The results of stepwise regression indicate that a relatively old worker with a healthy physique may have a safer mowing motion on the slope. To reduce the risk of falling, the workers need to pay attention to their arms when cutting grass on a slope. The results can be used as data for the development of future fall-detection systems and offer useful insights for the training of new mowing workers.

Due to the risk of mowing on steep slopes, more subjects over the age of 65 could not be invited to join the related experiments. The discussion in this paper assumes that workers with more than 20 years of mowing experience will have safer and more efficient postures than novices.

In future work, we plan to break down the mowing action in terms of frequency, consider more human-related data such as mowing workers' eye movements and invite

more workers with different characteristics (e.g., gender) to conduct experiments. We are also considering the use of deep-learning technology to predict the workers' risk of falling.

**Author Contributions:** Conceptualization, B.W. and Y.W.; methodology, B.W.; software, B.W.; validation, B.W. and Y.W.; formal analysis, B.W.; investigation, B.W. and Y.W.; resources, B.W., Y.W., S.N. and Q.J.; data curation, B.W.; writing—original draft preparation, B.W.; writing—review and editing, Y.W., S.N. and Q.J.; visualization, B.W.; supervision, B.W.; project administration, B.W. and Y.W.; funding acquisition, B.W. and Y.W. All authors have read and agreed to the published version of the manuscript.

Funding: This research was funded by JSPS KAKENHI, grant number 21K11876.

Institutional Review Board Statement: Not applicable.

Informed Consent Statement: Not applicable.

Data Availability Statement: Not applicable.

Acknowledgments: The authors wish to thank all the workers who participated in the experiments.

Conflicts of Interest: The authors declare no conflict of interest.

## References

- 1. Iwano, Y. Development of the mowing robot of trimmer type. In Proceedings of the SICE Annual Conference 2010, Taipei, Taiwan, 18–21 August 2010; pp. 1349–1352.
- Open Access Report, Agricultural Work Safety Information Center. Available online: http://www.naro.affrc.go.jp/org/brain/ anzenweb/machinery/bush\_cutter/index.html (accessed on 29 May 2020).
- Ministry of Agriculture, Forestry and Fisheries. "Outline of Agricultural Work Death Accidents That Occurred in 2018", Agricultural Work Fatal Accident Investigation. pp. 1–11. Available online: https://www.maff.go.jp/j/seisan/sien/sizai/s\_ kikaika/anzen/attach/pdf/index-101.pdf (accessed on 29 May 2020).
- Ministry of Agriculture, Forestry and Fisheries. "Farm Work Accident That Happened in This Way IV", Investigation of Agricultural Work Accident. p. 41. Available online: http://www.maff.go.jp/j/seisan/sien/sizai/s\_kikaika/anzen/23taimen.html (accessed on 29 May 2020).
- Suenaga, E.; Sumiyoshi, Y.; Takada, S.; Umin, K. Two cases of serious cardiovascular disease found after orthopedic consultation. Orthop. Surg. Disaster Surg. 2017, 66, 900–903.
- 6. Tucker, M.G.; Kavanagh, J.J.; Morrison, S.; Barrett, R.S. Voluntary sway and rapid orthogonal transitions of voluntary sway in young adults, and low and high fall-risk older adults. *Clin. Biomech.* **2009**, *24*, 597–605. [CrossRef] [PubMed]
- Wu, B.; Wu, Y.; Aoki, Y.; Nishimura, S. Mowing Patterns Comparison: Analyzing the Mowing Behaviors of Elderly Adults on an Inclined Plane via a Motion Capture Device. *IEEE Access* 2020, *8*, 216623–216633. [CrossRef]
- 8. Wu, B.; Zhu, Y.; Yu, K.; Nishimura, S.; Jin, Q. The Effect of Eye Movements and Cultural Factors on Product Color Selection. *Hum.-Cent. Comput. Inf. Sci.* **2020**, *10*, 48. [CrossRef]
- Zhou, X.; Chen, J.; Wu, B.; Jin, Q. Discovery of Action Patterns and User Correlations in Task-Oriented Processes for Goal-Driven Learning Recommendation. *IEEE Trans. Learn. Technol.* 2014, 7, 231–245. [CrossRef]
- Han, Y. 2D-to-3D Visual Human Motion Converting System for Home Optical Motion Capture Tool and 3-D Smart TV. *IEEE Syst. J.* 2015, 9, 131–140.
- 11. Kasuya, S.; Zhou, X.; Tago, K.; Nishimura, S.; Jin, Q. Cyber-Enabled Well-Being Oriented Daily Living Support Based on Personal Data Analytics. *IEEE Trans. Emerg. Top. Comput.* 2020, *8*, 493–502. [CrossRef]
- Wu, B.; Wu, Y.; Nishimura, S.; Jin, Q. Analysis on Falling Risk of Elderly Workers when Mowing on a Slope. In Proceedings of the 6th IEEE Cyber Science and Technology Congress (CyberSciTech 2021), Workshop of the 2nd IEEE International Workshop on the Impact of Internet of Things on Daily Life (IoT Life), Calgary, AB, Canada, 25–28 October 2021.
- Letts, L.; Moreland, J.; Richardson, J.; Coman, L.; Edwards, M.; Ginis, K.M.; Wilkins, S.; Wishart, L. The physical environment as a fall risk factor in older adults: Systematic review and meta-analysis of cross-sectional and cohort studies. *Aust. Occup. Ther. J.* 2010, 57, 51–64. [CrossRef] [PubMed]
- 14. Verghese, J.; Holtzer, R.; Lipton, R.B.; Wang, C. Quantitative gait markers and incident fall risk in older adults. *J. Gerontol. A Biol. Sci. Med. Sci.* 2009, 64, 896–901. [CrossRef] [PubMed]
- 15. Hausdorff, J.M.; Rios, D.A.; Edelberg, H.K. Gait variability and fall risk in community-living older adults: A 1-year prospective study. *Arch. Phys. Med. Rehabil.* 2001, 82, 1050–1056. [CrossRef] [PubMed]
- 16. Salminen, S. Have young workers more injuries than older ones? An international literature review. *J. Saf. Res.* **2004**, *35*, 513–521. [CrossRef] [PubMed]
- Howcroft, J.; Kofman, J.; Lemaire, E.D. Prospective Fall-Risk Prediction Models for Older Adults Based on Wearable Sensors. IEEE Trans. Neural Syst. Rehabil. Eng. 2017, 25, 1812–1820. [CrossRef]

- Sun, R.; Sosnoff, J.J. Novel sensing technology in fall risk assessment in older adults: A systematic review. BMC Geriatr. 2018, 14, 18. [CrossRef] [PubMed]
- Noiumkar, S.; Tirakoat, S. Use of Optical Motion Capture in Sports Science: A Case Study of Golf Swing. In Proceedings of the 2013 International Conference on Informatics and Creative Multimedia, Kuala Lumpur, Malaysia, 4–6 September 2013; pp. 310–313.
- Cockcroft, J.; Scheffer, C. Determining the Feasibility of Measuring Outdoor Road Cycling Kinematics Using Inertial Motion Capture Technology. SAIEE Afr. Res. J. 2011, 102, 31–39. [CrossRef]
- Li, J.; Yang, J.; Xu, Z.; Peng, J. Computer-assisted hand rehabilitation assessment using an optical motion capture system. In Proceedings of the 2012 International Conference on Image Analysis and Signal Processing, Hangzhou, China, 9–11 November 2012; pp. 1–5.
- Kertesz, Z.; Lovanyi, I. 3D Motion Capture Methods for Pathological and Non-pathological Human Motion Analysis. In Proceedings of the 2nd International Conference on Information & Communication Technologies, Damascus, Syria, 24–28 April 2006; pp. 1062–1067.
- Burget, F.; Maurer, C.; Burgard, W.; Bennewitz, M. Learning motor control parameters for motion strategy analysis of Parkinson's disease patients. In Proceedings of the 2015 IEEE/RSJ International Conference on Intelligent Robots and Systems (IROS), Hamburg, Germany, 28 September–3 October 2015; pp. 5019–5025.
- Abdallah, N.H.; Brahim, R.; Bouslimani, Y.; Ghribi, M.; Kaddouri, A. IoT device for Athlete's movements recognition using inertial measurement unit (IMU). In Proceedings of the 2021 IEEE International Conference on Industry 4.0, Artificial Intelligence, and Communications Technology (IAICT), Bandung, Indonesia, 27–28 July 2021; pp. 109–114.
- Ivanov, Y.S.; Kosichkov, A.O. Recognition and Control of the Athlete's Movements Using a Wearable Electronics System. In Proceedings of the 2020 International Multi-Conference on Industrial Engineering and Modern Technologies (FarEastCon), Vladivostok, Russky Island, 6–7 October 2020; pp. 1–5.
- Xsens MVN User Manual, Xsens 3D Motion Tracking. Available online: https://www.xsens.com/hubfs/Downloads/ usermanual/MVN\_User\_Manual.pdf (accessed on 16 December 2021).
- Huang, S.C.; Chen, L.C.; Chang, H.C.; Chang, H.Y. The novel falling detection method with G-sensors on waist. In Proceedings of the 2014 IEEE International Conference on Consumer Electronics, Taipei, Taiwan, 26–28 May 2014; pp. 233–234.